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B E  F 304088260 A#fi (HDCP= ~10) EMINLTHST
JIE 3 K £ ouT IN GR HDCP NET w=E
B =f EE 39 37 16 10.0 66.0
#E EHH F- 35 36 " 4.0 67.0

3 58/ & 39 37 16 8.0 68.0
4 |BX Bx 37 38 75 5.0 70.0
5 BS E1T 40 38 18 8.0 70.0
6 |ZEL & 40 4 81 10.0 71.0
i EE B 36 39 75 3.0 72.0
8 |EM FE 40 37 71 5.0 72.0
9 fAH 73 40 35 75 2.0 73.0
10 | ER 38 4 79 6.0 73.0
11 |&E B#t 35 44 79 6.0 73.0
12 |&€F = 42 39 81 8.0 73.0
13 |f— &4 38 44 82 9.0 73.0
14 B {8 45 38 83 10.0 73.0
15 |@X F|A 4 40 81 7.0 74.0
16 |fNA JeE 40 42 82 8.0 74.0
17 |[lUA  BaXER 44 39 83 9.0 74.0
18 |5 =B 43 41 84 10.0 74.0
19 |/h#k B 38 42 80 5.0 75.0
20 |k AR 42 39 81 6.0 75.0
VAREED N S e 43 4 84 9.0 75.0
22 |lUAR  GEXER 42 43 85 10.0 75.0
23 |BX ®‘aA 39 37 76 0.0 76.0
24 |HEK —R 37 40 71 1.0 76.0
25 |BEE FA 42 38 80 4.0 76.0
26 |JEAR IR 41 39 80 4.0 76.0
2] |B@E & 39 42 81 5.0 76.0
28 |IEER & 42 42 84 8.0 76.0
29 |/hER OB 43 43 86 10.0 76.0
30 O &t 46 40 86 10.0 76.0
31 WK A 38 39 71 0.0 77.0
32 |BAH —# 42 40 82 5.0 71.0
33 |1EHE #4E 39 44 83 6.0 77.0
4 |tFE E%R 42 4 83 6.0 77.0
3B |EH <Y 42 42 84 7.0 77.0
36 |BUR #FF0 40 46 86 9.0 71.0
31 |&#5 =W 44 43 87 10.0 77.0
38 |t & 4 42 83 5.0 78.0
39 |/hEE 0 4 42 83 5.0 78.0
40 AR LIFF 42 46 88 10.0 78.0

[ AEIHDCP [BXRIESIIHD CPESL-EREEL

18




